19.

i
1 2
1T 3 3 1
1T 4 6 4 1
1T 5 10 10 5 1
1 & & 200 715 6
1T 7 21 3636 21 7 1
1 8 28 56 70 56 28 8 1
1T 9 36 84 126126 84 36 9 1
1 10 45 120 210 252 210 120 45 10 1

21,

(p=32)"=[p+ (=39

= 1p'%=32)° + 10y°(=32)! + 45y8(—32)?
+ 120y7(-32)° + 210y%(—32)*
+ 252y%(—32)° + 210y*(—32)°
+ 120y%(—3z) + 45y%(—32)}
+ 10y!(—3z)° + 1y%(—32)!°

= p10 — 30y°z + 405y%2% — 3240y
+ 17,0101%2* — 61,236y°z° + 153,090y42¢
— 262,440y327 + 295,245y%z8
— 196,830y2° + 59,049z'°

23.

(25 — %) = [2s + (=9
= 128)(=1%)° + 7(25)%(—¢?)!
+ 2125)5 (=147 + 3525)4(—1%)
+ 3525 (=t + 21(2)4—1%)°
+ 725)(=1%)° + 1(25)°(—1%)’
= 128s” — 448s% % + 672s°¢®
— 560s%12 + 28053116 — 845220

+ 14582 — 8




(c =4y =[c+ (-4
= ,C,2(—4)° + ,C,c* (=)' + (C,c¥(—4)*
+ C.eX=ay + C ol (=4t + C.e)—4)
= (D)D) + B)c*)(—4) + (10)(c*)(16)
+ (10)(c?)(—64) + (5)(c)(256)
+ (1)(1)(—1024)
= ¢ = 20c¢* + 160¢? — 640c¢2
+ 1280c — 1024

4p—q)° =[4p + (—¢)°

= C,@p)°(—q)° + C,(4p)’(—¢q)"
+ G 4p) (=) + C,(4p)(—q)®
+ C4pA(—9)* + (C4p)'(—q)
+ C4p)(—9)°

= (1)(4096p°)(1) + (6)(1024p°)(—q)
+ (15)(256p%)(¢%) + (20)(64p°)(—¢°)
+ (15)(16p%)(¢")
+ (6)(dp)(—¢°) + (1)(1)(¢°)

= 4096p° — 6144p°g + 3840p*g?
— 1280p3¢> + 240p%q* — 24pq° + ¢°

(25* + 5)° = .C(2sY3(5)° + (C,(2s*)4(5)'
+ .C(25*P(5)% + C,(2sY(5)°
+ G2 (5)* + G2
= (1)(3252)(1) + (5)(165')(5)
+ (10)(85'2)(25) + (10)(45%)(125)
+ (5)(25%)(625) + (1)(1)(3125)
= 32520 + 400s'6 + 200052
+ 5000s% + 6250s* + 3125




31.

(3 =y =2 + (-]
— 4C0(x3)4(—y2)0 i 4C,(x3)3(—y2)'
+ Gy + GNP
+,C2 )N
= (D)D) + @) =p?) + (©)(x*)(7)
+ (@) )(=y°) + ((D(»*)
o xlz s 4'\.9),2 + 6x6y4 — 4x3y6 + y8

33.

sC,(3x)%(22) = 10(27x%)(4) = 1080x°
The coefficient of x° is 1080.

35.

A; ,Cyx*(=3)® = 35x%(—27) = —945x*
The coefficient of x* is —945.




